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Indefinite Integral 

Def :A function 𝑭(𝒙) is called an anti-derivative of a function 𝒇(𝒙) if  

𝑭′(𝒙) = 𝒇(𝒙). If 𝑭(𝒙)a is any anti-derivative of 𝒇(𝒙) ,then the most 

general anti-derivative of  𝒇(𝒙)  is called an intdefinite integral and 

denoted   ∫ 𝒇(𝒙)𝒅𝒙 = 𝑭(𝒙) + 𝒄, 𝒄 is any constant. 

In this definition the ∫ 𝒊𝒔 called the integral symbol, 𝒇(𝒙)is  called the 

integrand , x is called the integration variable and the c is called the 

constant of integration. 

Properties of the Indefinite Integral: 

1) ∫ 𝒌 . 𝒇(𝒙) 𝒅𝒙 = 𝒌 ∫ 𝒇(𝒙)𝒅𝒙,   𝒌 is any number. 

2) ∫ −𝒇(𝒙) 𝒅𝒙 = − ∫ 𝒇(𝒙)𝒅𝒙. 

3) ∫  (𝒇(𝒙) ∓ 𝒈(𝒙)) 𝒅𝒙 =  ∫ 𝒇(𝒙)𝒅𝒙 ∓ ∫ 𝒈(𝒙)𝒅𝒙  . 

4) ∫ 𝒌 . 𝒅𝒙 = 𝒌𝒙 + 𝒄, 𝒌 𝒂𝒏𝒅 𝒄 are constant. 

Basic Integralion formulas: 

1.∫ 𝒙𝒏𝒅𝒙 =
𝒙𝒏+𝟏

𝒏+𝟏
+ 𝒄 , 𝒏 ≠ −𝟏  . 

2. .∫(𝒇(𝒙))
𝒏

. 𝒇′(𝒙)𝒅𝒙 =
(𝒇(𝒙))

𝒏+𝟏

𝒏+𝟏
+ 𝒄 

 

 



Examples: 

1) ∫ 𝟖 𝒅𝒙 = 𝟖𝒙 + 𝒄 

2) ∫ 𝒙𝟒𝒅𝒙 =
𝒙𝟓 

𝟓
+ 𝒄. 

3) ∫ 𝒙−𝟑𝒅𝒙 =
𝒙−𝟐 

−𝟐
+ 𝒄. 

4) ∫ √𝒙 𝒅𝒙 = ∫ 𝒙
𝟏

𝟐⁄  𝒅𝒙 =
𝒙

𝟑
𝟐⁄  

𝟑
𝟐⁄

+ 𝒄 

5) ∫
𝟏+𝒙

𝒙𝟑 𝒅𝒙 = ∫ (
𝟏

𝒙𝟑 +
𝒙

𝒙𝟑) 𝒅𝒙 = ∫ (
𝟏

𝒙𝟑 +
𝟏

𝒙𝟐) 𝒅𝒙 

6) = ∫
𝟏 

𝒙𝟑 𝒅𝒙 + ∫
𝟏 

𝒙𝟐 𝒅𝒙 = ∫ 𝒙−𝟑𝒅𝒙 + ∫ 𝒙−𝟐𝒅𝒙 

    =
𝒙−𝟐 

−𝟐
+

𝒙−𝟏 

−𝟏
+ 𝒄 =

−𝟏

𝟐𝒙𝟐
−

𝟏

𝒙
 + 𝒄. 

 

Note1: 

دالة اسية إلىتحول  أنعند التكامل كل دالة جذرية يجب   

 

 

7)∫ √𝒙𝟐𝟓
 𝒅𝒙 = ∫  𝒙

𝟐
𝟓⁄ 𝒅𝒙 =

𝟓

𝟕
𝒙

𝟕
𝟓⁄ + 𝐜 

                                               =
𝟓

𝟕
√𝒙𝟕𝟓

+ 𝐜. 

8) ∫(𝒙 + 𝟏)𝟐  𝒅𝒙 = ∫(𝒙𝟐 + 𝟐𝒙 + 𝟏)  𝒅𝒙 

= ∫ 𝒙𝟐𝒅𝒙 + 𝟐 ∫ 𝒙𝒅𝒙 + ∫ 𝒅𝒙 =
𝒙𝟑

𝟑
+ 𝟐

𝒙𝟐

𝟐
+ 𝒙 + 𝒄. 

𝟗) ∫  
𝒙

√(𝟏 − 𝟐𝒙𝟐)𝟑
𝒅𝒙 = ∫ 𝒙(𝟏 − 𝟐𝒙𝟐)

−𝟑
𝟐⁄ .

−𝟒

−𝟒
 𝒅𝒙 

=
𝟏

−𝟒
 ∫(−𝟒𝒙)(𝟏 − 𝟐𝒙𝟐)

−𝟑
𝟐⁄ 𝒅𝒙  



=
𝟏

−𝟒
(

(𝟏 − 𝟐𝒙𝟐)
−𝟏

𝟐⁄

−𝟏
𝟐⁄

) + 𝒄 =
𝟏

𝟐√𝟏 − 𝟐𝒙𝟐
+ 𝒄 

𝟏𝟎) ∫ 𝟗√𝒙 𝒅𝒙 = 𝟗 ∫ 𝒙
𝟏

𝟐⁄  𝒅𝒙 

= 𝟗.
𝟐

𝟑
𝒙

𝟑
𝟐⁄ + 𝒄      = 𝟔√𝒙𝟑 + 𝒄. 

   Note2: 

 

          دالة في المقام مرفوعة إلى أس نرفعها إلى البسط مع تغير إشارة الأس كل 

   

𝟏𝟏) ∫
𝟖

𝒙𝟔
𝒅𝒙 = ∫ 𝟖𝒙−𝟔 𝒅𝒙 =

𝟖

−𝟓
𝒙−𝟓 + 𝒄. 

𝟏𝟐) ∫
𝟐𝟓

√𝒙𝟐𝟑 𝒅𝒙 = ∫ 𝟐𝟓 𝒙
−𝟐

𝟑⁄ 𝒅𝒙 

                             = 𝟐𝟓
𝒙

𝟏
𝟑⁄  

𝟏

𝟑

+ 𝒄    = 𝟕𝟓√𝒙 
𝟑

+ 𝒄 

 

𝟏𝟑) ∫(𝟑𝒙𝟐 + 𝟔𝒙 + 𝟖)𝒅𝒙 = 𝟑
𝒙𝟑

𝟑
+ 𝟔

𝒙𝟐

𝟐
+ 𝟖𝒙 + 𝒄. 

𝟏𝟒) ∫(𝟑√𝒙 + 𝟔√𝒙𝟐𝟑
 )𝒅𝒙 = ∫ 𝟑𝒙

𝟏
𝟐⁄ 𝒅𝒙 + ∫ 𝟔𝒙

𝟐
𝟑⁄ 𝒅𝒙 

= 𝟑
𝟐

𝟑
𝒙

𝟑
𝟐⁄ + 𝟔 

𝟑

𝟓
𝒙

𝟓
𝟑⁄ + 𝒄 

= 𝟐√𝒙𝟑 +
𝟏𝟖

𝟓
√𝒙𝟓𝟑

+ 𝒄. 

 

 

 



Note3: 

 

  نجري عملية توزيع الضرب  يوجد حاصل ضرب دالتين في التكامل وإنما لا

 

𝟏𝟓) ∫(𝟑𝒙 − 𝟏)(𝒙 + 𝟓)𝒅𝒙 = ∫(𝟑𝒙𝟐+ + 𝟏𝟓𝒙 − 𝒙 − 𝟓)𝒅𝒙 

      = 𝟑
𝒙𝟑

𝟑
+ 𝟏𝟒

𝒙𝟐

𝟐
− 𝟓𝒙 + 𝒄 = 𝒙𝟑 + 𝟕𝒙𝟐 − 𝟓𝒙 + 𝒄. 

𝟏𝟔) ∫( 𝒙𝟐 + 𝟑)𝟐. 𝟐𝒙 𝒅𝒙 =
(𝒙𝟐 + 𝟑)𝟑

𝟑
+ 𝒄. 

𝟏𝟕) ∫( 𝟑𝒙𝟐 + 𝟖𝒙 + 𝟓)𝟔 ∗ (𝟑𝒙 + 𝟒) 𝒅𝒙 

=
𝟏

𝟐
∫( 𝟑𝒙𝟐 + 𝟖𝒙 + 𝟓)𝟔. (𝟔𝒙 + 𝟖) 𝒅𝒙 

     =
𝟏

𝟐
 
(𝟑𝒙𝟐+𝟖𝒙+𝟓)𝟕

𝟕
+ 𝒄  =

𝟏

𝟏𝟒
(𝟑𝒙𝟐 + 𝟖𝒙 + 𝟓)𝟕 + 𝒄.  

 

𝟏𝟖) ∫(𝟑𝒙 − 𝟑)√𝒙𝟐 − 𝟐𝒙  𝒅𝒙  

      =
𝟑

𝟐
∫ 𝟑(𝒙𝟐 − 𝟐𝒙)

𝟏
𝟐⁄ . ( 𝟐𝒙 − 𝟐) 𝒅𝒙 

     =
𝟑

𝟐
 
(𝒙𝟐 − 𝟐𝒙)

𝟑
𝟐⁄

𝟑
𝟐

+ 𝒄 =
𝟑

𝟐
.
𝟐

𝟑
√(𝒙𝟐 − 𝟐𝒙)𝟑 + 𝒄 

    = √(𝒙𝟐 − 𝟐𝒙)𝟑 + 𝒄. 

 

Note3: 

ر موجودة خارج القوس هناك احتمالانكانت مشتقة داخل القوسين غي أذا  

 

:يةالتال في الأمثلةالاحتمال الأول استخراج عامل مشترك كما   



𝟏𝟗) ∫ √𝟐𝒙𝟗 − 𝟑𝒙𝟕𝟕
𝒅𝒙 = ∫ √𝒙𝟕(𝟐𝒙𝟐 − 𝟑)

𝟕
 𝒅𝒙 

= ∫(𝟐𝒙𝟐 − 𝟑)
𝟏

𝟕⁄ (𝒙𝟕)
𝟏

𝟕⁄  𝒅𝒙 = ∫(𝟐𝒙𝟐 − 𝟑)
𝟏

𝟕⁄ (𝒙)
𝟕

𝟕⁄  𝒅𝒙 

 =
𝟏

𝟒
∫(𝟐𝒙𝟐 − 𝟑)

𝟏
𝟕⁄  (𝟒𝒙) 𝒅𝒙   =

𝟏

𝟒
 
(𝟐𝒙𝟐 − 𝟑)

𝟖
𝟕⁄

𝟖
𝟕

+ 𝒄 

 =
𝟏

𝟒
.

𝟕

𝟖
 (𝟐𝒙𝟐 − 𝟑)

𝟖
𝟕⁄ + 𝒄 =

𝟕

𝟑𝟐
√(𝟐𝒙𝟐 − 𝟑)𝟖𝟕

+ 𝒄.  

 

𝟐𝟎) ∫  (𝟐𝒙𝟔 − 𝟑𝒙)𝟒𝒅𝒙 = ∫  ( 𝒙(𝟐𝒙𝟓 − 𝟑)) 𝟒 𝒅𝒙 

= ∫ 𝒙𝟒(𝟐𝒙𝟓 − 𝟑)𝟒𝒅𝒙 =
𝟏

𝟏𝟎
∫(𝟐𝒙𝟓 − 𝟑)

𝟒
(𝟏𝟎𝒙𝟒)𝒅𝒙 

=
𝟏

𝟏𝟎
 
(𝟐𝒙𝟓 − 𝟑)

𝟓

𝟓
+ 𝒄 =

𝟏

𝟓𝟎
(𝟐𝒙𝟓 − 𝟑)

𝟓
+ 𝒄. 

 

𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄 الاحتمال الثاني اذا كانت الدالة داخل القوس على شكل   

:ل التاليكما في المثا  

الاول الحد√)  ∓ 𝟐(الثالث الحد√ نتبع القاعدة التالية:   

 21)∫
𝒅𝒙

√ 𝒙𝟐+𝟏𝟔𝒙+𝟔𝟒
𝟓 = ∫

𝒅𝒙

√(𝒙+𝟖)𝟐𝟓 = ∫(𝒙 + 𝟖)
−𝟐

𝟓⁄ 𝒅𝒙 

=
(𝒙 + 𝟖)

𝟑
𝟓⁄

𝟑
𝟓

+ 𝒄 =
𝟓

𝟑
 √(𝒙 + 𝟖)𝟑𝟓

+ 𝒄. 

Note3: 

 

التحليل والاختصار تساوي درجة المقام نستخدم طرق أوسط اكبر كانت درجة الب إذا    

 

 



𝟐𝟐) ∫
𝒙𝟑 + 𝟏

𝒙𝟐 − 𝒙 + 𝟏
𝒅𝒙 = ∫

(𝒙 + 𝟏)(𝒙𝟐 − 𝒙 + 𝟏)

(𝒙𝟐 − 𝒙 + 𝟏)
𝒅𝒙 

                 = ∫(𝒙 + 𝟏)𝒅𝒙 =
𝒙𝟐

𝟐
+ 𝒙 + 𝒄 

Note3: 

 

المثال التاليفي كما  الأسسئ كانت درجة البسط اقل من درجة المقام نجز إذا  

 

𝟐𝟑) ∫
𝒙𝟓

(𝒙 + 𝟏)𝟕
𝒅𝒙 = ∫

𝒙𝟓

(𝒙 + 𝟏)𝟓
.

𝟏

(𝒙 + 𝟏)𝟐
𝒅𝒙 

= ∫

 

(
𝒙

𝒙 + 𝟏
)𝟓 .

𝟏

(𝒙 + 𝟏)𝟐
𝒅𝒙 =

(
𝒙

𝒙 + 𝟏
)𝟔

𝟔
+ 𝒄. 

24) ∫
𝑥3

(𝑥 + 1)5
𝑑𝑥 = ∫

𝑥3

(𝑥 + 1)3
.

1

(𝑥 + 1)2
𝑑𝑥 

          = ∫ (
𝑥

𝑥+1
)

3
.

1

(𝑥+1)2 𝑑𝑥 =
1

4
 (

𝑥

𝑥+1
)

4
+ 𝑐. 

 

 


